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Find Word Meaning In Context — Questions

Name Date

Ice Hockey

1. In the text, the word score means
a) a piece of music.
b) the number of points achieved in a game.
) a group of twenty people.

2. The aim is to score points by hitting a puck with a stick.
Write a sentence using the word stick in another way.

3. Each player needs a hockey stick to shoot the puck.
What is another word that could have been used instead of shoot?

4. Ared line divides the rink in half for ‘icing’ violations.
In your own words, what does violations mean?
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Multi

Now for the 4 times table. The 4 times table is just double the 2 times table. ,
%: This is handy to remember if you forget a 4 times table fact.

o R ———— - _— — — . T

The 2 times 1x2 = 1 x4 = Write the missing

table should - - : numbers for these

Esr::Is::: isto 9 %2 = 9 % 4 = 4 times table facts:

first. Then a x4 =28

double each 3x2= 3x 4=

of the 2 times b x 4 =16

table facts to 4x2= 4x4-=

et the 4 times =

fable facts: 5x2= 5x 4= : ‘ ©4A
7 %x 2 = 7 %x 4 = e x 4 =12
8 x 2 = 8 x 4 = f x 4 = 36
9 x 2 = 9 x4 = g x 4 =20
10 x 2 = 10 x 4 = h x 4 = 28

Use the hint to get the answer. Then fill in the missing digit to make the 4 times
table fact complete:

a Hint: Double 16 b Hint: Double 12 c Hint: Double 18

Look at the numbers in the grid 3 |1 4 | 8| 32
and circle 3 numbers that would 1 . 1
make a multiplication fact. Look 3
for x 2 and x 4 facts. They are 16 | 5 3 8 2
either left to right or top to
4 24 | 14 | 4

bottom. The first one has been 3 6
done for you. There are 10 to find. 2 |1 81167 |9 |36

9 2 |18 10| 2 | 20

s e

Multiplication and Division
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There are 88 elephants in the
herd. 36 are male adults and 23
are children of which 10 are male.
How many females are there in
the herd?

20.0n Monday, Jose had 198 apples,
139 oranges, and 55 pears available

at his shop. That day, he sold 15 apples,
22 oranges, and 18 pears. How many
pieces of fruit were remaining

on Tuesday?




